4.

Y

F2[0

(2) B72% 2 DDERRE DD

F2E 1. N2 XxARER
fRE
(2) 2=-2,0
(5) z = % -3
(3) k=42V5

(1) z=-2, 4
M)ngg—Q
.(1)z:%\/ﬁ
(@leigﬁ

(1) 2EfRE LD

(3) B2 2 DDERIRE B D
(1) k=25 (2) k=

() 42z —4)=0&D z24+2=0%RFr-4=0Fhbbr=—-22=4

5

(2) 22(z+2)=0&D 22 =0FE2+2=0FKbb =0, z=-2

3) 2r+3) (e —-1)=0%D 20 +1=0%F7Ea—1=0F%bb o= 13

2

, T

1

1) Br—2)(x+2)=0 %D 3z—2=0%F7Ez+2=0F%bb x:%,x:—Z

B) 2e4+1)(xz+3)=0&D 20 +1=0%F%B3 2+3=0F4Kbb r=—

2
(6)(3x—1)(2x—5)=00hb3:0—1:0&7’:0:;(%—5:03‘72%97595:%
(1)33:—51\/25—8:—51@

2 2
(Q)zi—lj:\/1+127_1i\/ﬁ
- 6 B 6
(3) g —6EVE6-40 _ —6+v—d _ 644 _ 6£2i _ —3%i
- 4 - 4 B 4 T4 2
(4)96_11\/1—24_11\/—23_11\/@'
- 6 - 6 G

, T

, T

5) W% 6 % , 4224+ 92+1=0 r=— =
% 615 LT, dg? 1 9i\/881 16 9?/%

(6) x

.(1) D

_4\/§:_£

=43 4++/48—48
— 2 —

=(—6)2-4-9-1=0 &b 2&E@EEHD
(2) D=(-3)2-4-2-(-9)=81>0 KW ELZ200FEKHELHD

8

2

(3) D=3*-4-2.5=-31<0 XD ELZ 2O0EKEE HD

(1) D=(-102—4-1-k=100—4k=0 XD 100 -4k =0 Zh XD k=25
2) D=32-4.2.k=9-8k=0&b 9-8k=0 Zh&D k=

9

8

By D=k?>—-4-5-1=k*-20=0 kD k2 -20=0 ZHL&D k=+2\5

-3

5
2





